L Eroncés Réponses |
Activité Mentale

Seconde




Enoncés 1 23 45

Développer (8 — 3x)?



Enoncés 1 23 45

Simplifier 1/99



Enoncés 1 23 45

Calculer (3 —/8)(3 +/8)



Enoncés 1 2 3 45

Milieu de A(—1;4) et B(—7; —2).



Enoncés 1 2345

Si f est décroissante, comparer f(—4) et

f(=1).



Enoncés 1 2345

Correction



Réponses 1 23 45

Développer (8 — 3x)?



Réponses 1 23 45

Développer (8 — 3x)?

Réponse : 9% — 48z + 64



Réponses 1 23 45

Simplifier v/99



Réponses 1 23 45

Simplifier v/99

Réponse : 3+/11



Réponses 1 23 45

Calculer (3 —+/8)(3 +/8)



Réponses 1 23 45

Calculer (3 —+/8)(3 +/8)

Réponse : 1



Réponses 1 2 3 45

Milieu de A(—1;4) et B(—T7; —2).



Réponses 1 2 3 45

Milieu de A(—1;4) et B(—T7; —2).

Réponse : (—4; 1)



Réponses 1 23 45

Si f est décroissante, comparer f(—4) et

f(=1).



Réponses 1 23 45

Si f est décroissante, comparer f(—4) et

f(=1).

Réponse : f(—4) > f(—1)
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